EAGRAROBREERT — 2 N— IBISH —F

2021548250 (B) 1EI#RE6H

N >53m *B7 () B

EZS

& ‘ [RERSE] — | & (&) 12000 B

[A&4£] 1 7% :5,100,000 2 3% :2,000,000 M 33 :1,300,000 M 43 :770,000 @ 5 % :510,000 [

WEBR MK HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
AB—FTRIN—=H # 3 g%{?)%ﬂ 1:(1_3).1 1-1 37.7| 877 | 1 | a8 i%%z (EH)
RFLRIY— by b BEATYT 4 — @8 i 1

= 4 3 | REAR 1:13.1 2-2 37.5| 87.7 | 2 464 | ELARR= (BR)
HAZ—=3 £54.0 (7E) (14 | @ REA_ AL
R:T7—IRI-ZX B:Y2UIvg N7 7 — L
> ft 3 | EEBZ 1:13.8 7-6 37.7|81.4| 9 436 | EETES (ER)
DR N G ey 54.0 (4) ) (E>m7:}'75 774
ALyl B:TUUL IVTSTT— L4
= FhoLists : - REEAT (E#)
Ta0752 k [B) 3 i 1.(114).0 4-4 38.2| 79.6 | 12 (5:)22) s
WF-TTUS T BFTIEHY BANRAZF=b
N . IS F 14, - . . fREE— (E7H)
PR VE 3 e 1(31/:2)1 12-11 | 37.5|78.9 | 10 :1_7; o
L dxRK—45> BXZY R—F X A
= , o BERK 4. - . . HILER (ER)
AF4YR % 3 i 1;4{1{2 7-8 38.1|77.8| 5 (fi) ol
LHIRT TR BNIVE—F N> T — e
FHRME 14, - . . eREE (E#
JU—kTA R i 3 FE 171?:)2 10-9 378|779 | 7 (i?ﬁ) (H)Ew L.
Z:ANXZATNG B:5V3a4 [Ea=bie]
g = 4 3 | KOE 1:14.3 13-13 | 37.5| 77.1 | 6 484 | PAKRE (FH)
81713 XA X TZ w7 56.0 7E) (-6) |ZV—>2x—F
Rixfavk—-5— B:HT7H3IP 327 =R %%

i 5 #o3 | AMEX 1:14.5 4-4 38.7| 755 | 3 462 | NEfREL ()
9l1l1|7VTTz—n A53.0 ) © (Hi)m’j")—‘/77—L\
T4 T77yva B:L43ardg—Ib HBE77— L4

4 3 | WHEHELE 1:14.5 7-9 38.4| 75.2 | 15 | 406 |/MEILE (KH)
10 10 X ’r.L\ AN52.0 (1/2) (+4) BIEEE
R:IvF—TAIN BHF—TI—4T3 N k45
= 4 3 | FARthKR 1:14.7 2-2 39.1| 74.2 | 1 474 | MEBHEZ (EH)
1Y 5| 1FFIZ7A— 56.0 (' 1/4) (+g) | EEEE—
T4 >T7Fyv2a BIRAATT Eielllk=yrabae]
s 3 | BEXLT 1:14.8 10-11 38.4| 72.6 | 4 420 | FiRA=— ()
12/ 7|12| 21 €A77 > *i 54,0 A e oo
R:1VZRE—3IZX4— B XHA NIRT— RN
SN BHEEAD :15. - . . KMEK (EiH)
135/ 9| Ly K172 i3 Aoa 1(145)5 4-6 39.7] 68.1 | 8 f:) Noen
L:lby RZXN—4 B:T7RYLY KL T HE
j . — s 3 | DIEERER 1:17.0 13-14 | 40.1| 56.0 | 13 | 428 |KILRE (Xik)
14/8/15| 7V 2> ENT 54.0 © Ca) | # ORTEGA
L1 7 hT—lbEY B:Ia€) MLA—L EAKR BA
= ) 4t 3 | FREAE 1:17.7 15-15 [ 39.9 | 49.8 | 14 | 442 |H9I5¥9 (EiA)
EH 4 T4 xIN—=T 2 54.0 (4) -2) (#%) /W=>F14—¥%77Lv KR
RixvyUgTdyk Bid—KL—a T RS
@ 21 L
£ 49.6-37.7
NA>ZA LA | 12.3-11.2-11.9-12.5-12.1-13..1
® 1—F—@EBIERL
13—=7—
2a=5F=
Jo=5r= 2(5,14) (1,8,9) (3,6,10) (11,12)7(13,15)=4
40—+ — 2(5,14) (1,8) (3,9)6(11,10)-(7,12) 13-15=4
[ N5
B OB 2 2101 | | 714 K 2-14 230 | | # E 2-8 370 | | 3EE 2-3-14 4,560M
B B 2 120 2-3 1,230H B = 2-14 400M EE 2-14-3 14,430H
14 140 3-14 2,160 B H 2-14 810M
8 550

ARICOVWTRDTEEERROODE. TR LIV,




